1. The objective function is preferred customers that is 3* regular customers
	The objective function 3*A/regular hours+3+100
	3A/3*100 = 3A/300
2 Change in value hours required 	= 2A/3*100 
	2A/300
Change in value hours required = 33% less than the initial value hours
3. The percentage change in Value Weight is 50% (from 2 to 3).  
	It is 33 percentage less
4.
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5. It depends on number of units of good on the Y axis consumers purchase and budget line will start from that point and becomes horizontal to X axis.
6. Increase in the price of both goods.






[bookmark: _GoBack]7. Budget constraint remains the same as there is same increase in price and income.
8. As there is equal l change income and price budget constraint will remain the same
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